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— 11712 50212 PPotThR N
One cannot make a 77217 in the properties of an escapee

OVERVIEW

21 ruled that a 7P which is made on the property of a m712 is not a valid ap1m,
since the M2 cannot come and be 7Mn in the presence of the P> (for 27 agrees
with *"9 that 78I "7 KD 17192 KOW ARAM). Mo0IN discusses what is meant by 1712,
and how we justify this ruling of 21.

- 2‘[1}:0:1 9999 ININY 1Y RY XN 1199 5NN INT 999N 111}:}: NN N33
We are discussing one who runs away for monetary reasons, however if he is
m12 on account of murder, X2 would not argue with 21 in such a case, as is

evident shortly in the x7n3.
— MNNYY DY PIINNVY DIPNRY NAY 919PW PN KN NAYYT YWIPNA AN N33 XPIT

And it is specifically regarding a 1712 that you cannot make a 7Pt on his
properties, however by a regular person who is not living there, it is a valid 7psm,

since that person can come to the place where he is making the 17717 and protest -
— 15393 XYW *ANNN NN XY 109 01p0a NaY HRwA 10N 199 bax

However a 1712 who is not able to come to the place where the p>1nn is staying,

it is not a 8 [for it is] 12 RPW, and therefore the 7P is no 7pin -
— 15393 MINNY TSV $RYUN SHNM HINK NIYY NI 2INPT NNINP 3395 Y 920

For 17 agrees with >''1 who states in the mw», ‘and he (the "¥7y») will come the
next (third) year and protest’; indicating that it is necessary to protest in the
presence of the prmn.

mooIN questions the previous assumption that >3 maintains IR X217 R 11D ROW IRAD:
— 17392 ANNM YA KT 32 NN 229 NN 99NN DON)

" The xnp X1 owes money to people and so he ran away because he cannot pay them (see 7xm 7"7 2"2w").
% %21 rules (later on this TYy) that 72 °0312 1> 1K ®N327 and 7ARAM 17 1192 ROW I8M and the X3 explains these
seemingly contradictory rulings of X237 that 712 0312 P17 PX is discussing 17 nama 112, If HRmw would argue
with 17 (even) concerning 7% nnin 112 and maintain that it is a Ap; it is unlikely that X237 would rule like 27
against PXW since X112 PRMAWD XNJ27 (against 27).
? Others amend this to read 1°X7.
* The word *Xw1 (which is usually translated as permitted) is to be understood here to mean able. There is no
prohibition for the debtor to be by his creditors; he is just not able to appear because he is extremely concerned.
> Others amend this to read X7w 17 A8
% The expression 7M™ NINX MW X7 indicates that the 7y7wn must come personally to the p 1 and be mmm;
otherwise the 71wn would have written nn& 72w Anm™ without the X2
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And if you will say; but perhaps >''2 does not require a %192 7RI -
— NN NI PAINNAY NIT1NA NI YINP 22

And this is what °"1 is saying, ‘and the vy» will come to the country where
the P17 is and be 7171%” in that country (but not necessarily in the presence of the P>1mn) -

- 71)‘\th YNYUN IRY NN DTN NI AN’ NN ON )
For instance if the 1 is in 77% (and the wAy» is in X°MDOK), the W vn will

come to 71737 and be 7%, for then his 8w will be heard even though it is Xow
17192, because (even >"1 agrees that) aRMA X7 17192 XYW ARAN.

In summation; Mo is asking that perhaps " agrees with the 13127 that aXnn "7 17192 KOW AR
and when >"1 states NNR 7w 827, he means that he will come and be 7777 in the 71> where the
17 is but not prmng *192.°

mooIN anticipates a difficulty (with his proposal that >3 agrees to nXm? X117 17192 KOW 7RMA):

— NN 1Y YWD ARNNA D) NN 1Y NYNYI NPINY T1199) NN 99
And if you will say [that] since the 7Pt is heard as far as N »poX, we can
assume that also the 7Nm» will be heard as far as N’%»p®R; mpoin concludes the
difficulty -

— 5155y 7NN 231Y INAM 1 1392 NYYW NNNM IN)

And if 7872 517 12 RYW ARAR (as MO suggested in his question), let the 2y wn
sit in his place in X°»50X and be 7117 and it will be heard in >"X. The fact that he has to
leave X°190KR (seemingly) proves that 7RmM 7 XY 1102 ROV RN —

In summation; the preceding X»°n °21 assumes that a 7Xn» is heard the same as a 7P is heard,
and therefore we cannot assume that *"7 maintains 7872 "7 1192 X9w 180, for then there is no
need for him to leave X150X to make a 7Rn, when he can make the 1Xnn in X°nOoR and it will be
heard in *"X, just as the 7P in "R was heard in X°»90X. This would answer M50In question.

"If we can assume that *"9 agrees that 1°192 Row 787 is a AxmA (in the same 71°7), why does 21 rule that PP in X

112 °0212 (even if he is in the same 711°77); let the n712 be M wherever he is (in the same 71°71) since 17192 XPW XA

AN XN,

8 According to this view, the np12n» between the 7127 and "1 will be that the 2°n5n maintain that if the qv7yn is in a

different 7317 (like 2°93 777°) there can be no 7p11 since (the 78nn cannot be heard from there and) the p"» is not

obligated to travel from 777 to 2°73. However >"J maintains that (even) if the p"» is in Xm908 (much further than

2993 779) nevertheless it is a P, for the 7w wn is obligated to travel and be 7 in the 72> where the P°1n resides.

? The n"37 M7 amends this to read 115 (instead of 11°27)

' We know that the 7Pt is heard even in X790 since the mwn clearly states 71w 3P TM 1997,

" moon (presumably) means that just as the 7P reaches from *"X to X>no0K, similarly the 7xmn from Xoox will

reach *"X.

12 According to this understanding, the np17n between the 7127 and " is that the 1127 maintain 78n7 "7 9"awn, and

*"9 maintains that aXmn 7 X7 9"2wn. In addition the 131271 maintain that one is not obligated to travel (1°V% 7°¥n) to

make a 78nn (if it cannot be heard), while *"7 maintains the 7¥7¥7 is obligated to come from X°»50X and be 1192 A7,
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mooIn rejects this assumption (of the ¥1°n °21) that a XM is equally known as a fpin:
— NYNYI ARNNN D) NYNRYI NPINY DIPN U3 INT R XN

This assumption (that wherever you can hear the 7P, you can also hear the aXmn)
is not so! For if we were to assume that wherever the 11711 is heard, the 7Rn% is

also heard and there is no difference between the publicity of a 7P and the publicity of a
R -
— ANNMA NN 19393 XYW ANNM 1339941 29599 nom 9991 19 Bx

If indeed this is so, how did the X772 prove earlier that the 3139 of >"7 maintain

IR R7 19303 oW SINMA -
— APIN N AN DINM AN N3P ARNMI NN YT BYIYYT NN

I can say that in truth a 1°192 X5 7877 is not a 78, and the reason why if the

yaya was in 737357 and the 7Pt was in 7770 it is a 7P (is not because a  X5W ARMN

N7 717 17192, but rather) -
— PONNN 9Y NNM NI NYNYI XY 29D

Because the 77117 is heard everywhere in 7717 and so the 7y ¥» will come and be

7% in the presence of the Pt -
— Bamin XN XY 990 DIVM NYNYI APINA PR 99939 1NN Yan

However from 777371 to 293 the 717 is not heard so far away, and therefore it is

not a 7P (but not because RN M7 1D XYW IRMM). However since we see that the X7
derives from the ruling of the 1127 that 787 7 1°192 XYW 78N we must —
— XY ANNM YaN PINN NYNYI NPINDT NINDID 19D RVIWD INT NIN

Rather assume that it is certainly obvious to the X923 that a 7P can be heard

from afar, however not a 7INR%; it cannot be heard as far as a 7P -
— 19392 NOY ANNN NMNT 1329 Y9209 929V Dr¥Y N 97 )

And therefore the X713 previously correctly proved that the 3229 maintain that

a 1MIDa RYw nNmn is valid -
— PONNN 9Y NAY P98 NON NINNND NN NY INT

For if it is not a valid nxn», but rather the 7v7y7 is required to appear before

the pormn -
—= AP RN 9939 1NN )9 ON

If indeed it is true, so there should be a 7P even from 7717 to » 93 -

' 31 said on the 'X 71y that the 1321 maintain that Axm? X7 1192 89w A8y, for otherwise why is it a Apim by A7
a7 (it is 17192 ROW).
' The n"21 N amends this to read X2 (instead of X57).
'3 According to this logic, the npYomn between the 1321 and *"1 will be that the 7127 maintain that a 7P can only
reach within the 71" (but not outside the 77171), and *"9 maintains that a P11 can reach even as far as XM90K;
however the X1 must be 1192 (according to both 7121 °").
16 See xmn 7"7 X, 'O,
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— 1139 19399 797 393 95939 1111 Y mnn 199999 Y ANAraY o
for just as in 7771710 the 2v7yn is required to go and be 77m in the s'P°1mn presence
(for we are now assuming 78M? 77 X7 17192 X9W 1I877), so too from 577970 to 9995 the

7y vn should also go and be 71m% in the s'P°1M1 presence, but since we see that there is
no 937 A7n 1P, the only explanation is that the aRmM "7 17192 KW nARnn, however the RmN
does not travel as far as the 111, therefore in 777 the 17192 X%w a8nn will reach the p°1n but not
from °93% M.

In summation; we can either assume that 7XmmY 7117 are heard equally or that 711 can be heard
more than 1Xnn. If we assume that a 79117 is heard further than a fXn» (it can be heard 777
5939), we can understand how 27 derives that the 7127 maintain 7872 X177 17192 XYW a8nn. The
7P is heard both in 777 and 2°%3, the only way to explain why it is a 7pin in 777 and not in
593 is if we assume that the 87 is made 1°192 Xow, therefore 777°% 7710 it will be heard and
9937 771 the nxnn will not be heard (even though the P will be heard 2°2x3% 777°n). However
if we require a 1°192 nXnn what is the difference between 777 and 9°9). This is all true if we
maintain that the 7117 is more publicized than the fxmn.

However if we assume (as the '®»°n °21' does) that the publicity of a IRmmY 7PN are equal, then we
can easily explain the difference between 777> and °93 (without assuming 7 192 RoW 7RMN
TRMN); In AT it is a P, since the 1P is heard in 777 the P 1in will come and be %192 7mn,
however in 293 where the 711 is not heard there can be no n&nn or np1n; why did 27 assume that
the 1327 maintain 7Xn7M X7 1192 KO I8MA. This proves again that we must assume that a 7P is
heard further than a 78m» and 1192 X5 7877 is a valid nxnn according to the 1127. The question
remains perhaps > also agrees that X7 X177 17192 ROW 7RMA, so why does 27 rule 0212 1R PR
1713, if he can make a 17192 XoW aRAN.

MO0 answers:
— Pym39715) 9NN HINK DIYY NI 99N D117 229 231 X911 91999 U

And one can say; we know that >"1 maintains 787 X177 X2 1°192 ROW 18MN, since
the mwn» did not state and the “y7y»n will come the following (third) year and
protest, and [they] will inform the P17 -

TPHNY 13929 12399 MNNY TP98Y NI YNY
We can derive from this that he must be 777 in the presence of the P11, This

' See “Thinking it over’ # 1.

' See “Thinking it over’ # 2.

19 [Others amend this to read 77w>7.] If > meant to say that he can be 12192 X?w 7w (in 7777), the 73wn should not
have just said that the 7v7v» will come (and protest), for since he is not protesting 1192 we need to allow time that
the P 1 will be informed of the %m» (so he can retain his 70W); the mawn should have added that there is sufficient
time for the 7¥7¥» to come on the third year (and protest) and eventually the P>t will be informed before the end of
the third year. The fact that the 71wn does not add 1m¥>71 indicates that no additional time is allotted to inform the
P, since the aRnM is done only 1192
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(Mo01n) is attributed to the 5''1.

SUMMARY
The ruling of 27 is only by (771 nann) 72, but not by a person who left willingly.
*""Y maintains that a 7M1 must be 1’192, since he did not state ¥y 7.

THINKING IT OVER

1. From mooin here it seems that if we maintain 787N "7 X2 17192 XOW 78R, it
would be incumbent on the 2y7wn to travel (even from 771°71% 7271 and certainly)
T°¥% 9°vn to make a axnn.”” However previously®' moown taught that if Xow mxmn
TRMA N KD 1193, then it will not be a np, but the wavn will not be required to
travel 1vH yn!*

2. MooIn writes that if we maintain (according to the 13127) that *17 X 1192 RPW 7RMN
XM, then just as the qw wn is required to travel 7772 777 and make a 1°192 8MA
he should also be required to travel %3 777" and make the 192 fxnn.> However
how can we compare the two cases; perhaps the 2’1217 only required him to come a
short distance (7777 777°n), but not a far (and dangerous) distance (7771
Phan) 21

20 See footnote # 17.
2L x5% 7" R, 0.
2 See n"m.
2 See footnote # 18.
* See n'"m.
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